a'}-/“\“-{—a“
qamﬁ
ST & gfy Wﬁﬁmmmﬁxnﬁammmﬁﬂ
%*”Waﬁ%ﬁﬁaﬁmﬁmﬁmﬁﬁéﬂ

l (150?@ H I aﬁm)
“The mo
St signi
significant achievement of modern law in India is the

constitutionalizat;
al .
1zation of environmental problems by the Supreme Court.”

DiSCUSS .
this ,
§ statement with the help of relevant case laws.
(Answer in 150 words)

Vﬁ“&%wmﬁﬁmmmﬁmmmmmﬁwﬁwm
I ISt R, g A afir o 7 & 17 Fee A

(150 &l & 3w Qfere)

“Right of movement and residence throughout the territory of India are freely

available to the Indian citizens, but these rights aré not absolute.” Comment.
(Answer in 150 words)

W“ﬂﬁ, mﬁwﬁﬁ%ﬁﬁwﬁaﬁ-wmm-mﬁﬁmm
o it T & 2 (150 wd) # 3w G0)
n, has the decentralisation of power in India

To what extent, in your opinio
s ? (Answer in 150 words)

changed the governance landscape at the grassroot

?Aﬂw%wﬁ%mﬁm%smmqﬁﬁmﬁﬂﬁﬁmﬁﬁm
(150 wrea! & I Q)

Discuss the role of the Vice-President of India as the Chairman of the

Rajya Sabha. (Answer in 150 words)

) uﬁwﬁwaﬁm%aﬁﬁmﬁm@dﬁuﬁﬁﬁwaﬁmmaﬁmﬁr@ﬁ
ngﬁsﬁnmﬁﬁéwﬁml(lsomﬁﬁmm)

Discuss the role of the National Commission for Backward Classe

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

M-wﬁsmmﬁﬁﬁm%a@aﬁmm%%qmaﬂiﬁsﬁ%a%nw
mwﬁaﬁmﬁlﬁéwﬁﬁm(lsomﬁﬁmaﬁq)

s in the wake

The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7. framm & w H W wEvefE SRAHE B i

}8.

WW\_W.%]GWWWWGW-Q o
#ifsm | (150 wegt ¥ I Afw) !

The Rights of Persons with Disabilities Act, 2016 remains on] ]
document without intense sensitisation of government functionin'él -
.-y . . 3 K e
citizens regarding disability. Comment. (Answer in 150 words) s and

TR AT S AT % HISAH § TN YA IR H GuR U wifieier wem
o gad ot i o # ) feowoft i | (150 et A I i) S
Reforming the government delivery system through the Direct Benefit

Transfer Scheme is a progressive step, but it has its limitations too. Comment
(Answer in 150 words)

~qr s 1 A Qe f @ 1 qdad] 9 & e 3 ficr & adu wehe

A &1 yfue F fag=m FFC | (150 vregi & 3 dife)
‘India is an age-old friend of Sri Lanka.’ Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words)

o1, wF faem § F fanes (BIMSTEC) &% (SAARC) #! @@ U @WHIA €713

%?aﬁ%mmmﬂﬁm%?wmm%maﬁﬁ
W s i % 32va 4 ra ge # 7 (150 wedi H Iw )

Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian

foreign policy objectives realized by forming this new organisation ?
(Answer in 150 words)

/(m/massrfaﬁﬁmaaﬁ:ﬁw 1951 % 3=Td 6z Sga U At & aeEl & 3

ﬁwmimﬁmwﬁéﬁﬁm|mmMmmﬁﬁaﬁa
dﬁﬂmﬁﬁ%ﬁaﬁqﬁwﬁtﬁﬁa%mmm%?wﬁﬁa%mﬁ%ﬁw
£ Fa.a 39an 39eed 2 2 are faftr &1 w= dife | (250 el # e difre)

Discuss the procedures to decide the disputes arising out of the election of a

Member of the Parliament or State Legislature under The Representation of
ct. 1951. What are the grounds on which the election of any
may be declared void ? What remedy is available to the

nst the decision ? Refer to the case laws.
(Answer in 250 words)

the l’(ruplc A
returned candidate

wgrieved party agal

¥ .58
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] = TSGR faurh wifteei % w1 stravas wd a1 fraee fe | Tt F
Hﬁh@%mmmﬁsﬁ%y:mﬁ%wﬁ%ﬁaﬂml
(250 wreal & 3w 4C)

DiSCus 3 )
S the essential conditions for exercise of the legislative powers by the

GOVern : .
or- Discuss the legality of re-promulgation of ordinances by the

Gov ,: :
ernor without placing them before the Legislature. (Answer in 250 words) 15
RS, “urg 3
g l”nﬁanﬁfﬁmaa%ﬁhm%wﬁ%,aaﬁsmaam.mm%
feoqoft Hifs | (250 =gl H IT Afw)
While the National political parties in India favour centralisation. the regional
I5

partie -
S are in favour of State autonomy.” Comment. (Answer in 250 words)

Waﬁ(m%m%ﬁaﬁiﬁéﬁaﬁmwmqﬁmﬁﬁmi
(250 wredl # I Ef0)

Critically examine the procedures through which the Presidents of India and
15

France are elected. (Answer in 250 words)
. e AER-ETEA % IpE F A H, WHa b et smim 6 yfre @ s
HfT | (250 wsdt & 3w &)

Discuss the role of the Election Commission of India in the light of the

evolution of the Model Code of Conduct. (Answer in 250 words) 15

HIHR 1311 & fafT 9a &l G99 & dfad a3 et K @ & o
PerehIfa it ST & FIA JeUA H AEERAl @ | == Hifg |
(250 weg] ® I fu)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
15

society. Discuss. (Answer in 250 words)

wmwmﬁm%%mﬁgmmmmﬁmmm

ﬁmm%mﬁm%?mw%ﬁﬁfiﬁmml
(250 weal | IR AfC)

Do you agree with the view that increasing dependence on donor agencies for
pation in the

development reduces the importance of community partici
19

development process ? Justify your answer. (Answer in 250 words)

CRNA-X-GSB



Y
18] T e & mes
%/ ﬁ'é%ﬁaﬁqﬁﬁ%wﬁﬁmwmﬁm =il € foen i
%Iﬁ?ﬁﬂmaﬁﬁqﬂwaﬂtmﬁmmﬁmm’ R I e B
. 1
inadequate in prol:ln t,o Fl.'ee and Compulsory Education Act, 2009 .
oting incentive-based system for childr’en’s edremams
ucation

without gen :
eratin
g awareness about the importance of schooling. Analyse
(Answer in 250 words)

}«19./12U2 WRE, TEE. §
mﬂﬁ(ﬁmﬁﬁ@ém s o S §TH T ) T 3
il 2Us (1 .ﬁ%amwmﬂﬁm 7 (250 wed] # I &)
sositiontin @) nc?u-a, Israel, UAE and USA) grouping transform India’s
global politics ? (Answer in 250 words)
Mwmmﬁma |’xkrm=ﬁﬁ%;mﬁfi,ﬁﬁﬁm@aﬁa‘iﬁ
mmﬁmﬁmﬁmﬁﬂﬁwﬁmmm |
(250 w&al H I &fsm)

e briefly India’s changing policy

er of the day.’ Describ
tional fora in the context of

‘Clean energy is the ord
towards climate change in various interna

geopolitics. (Answer in 250 words)
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15
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